

British Journal of Applied Science & Technology 4(19): 2784-2795, 2014



SCIENCEDOMAIN international www.sciencedomain.org

Deduction of Double Wronskian Solution and Rational-like Solutions for Generalized Non-autonomous Schrodinger Equation

Hongwei Fu^{1*}, Kanghui Dong² and Rongjie Jin²

¹Normal School, Jinhua College of Profession and Technology, Jinhua 321017, P. R. China. ²Department of Mathematics, Zhejiang Normal University, Jinhua 321004, P. R. China.

Authors' contributions

This work was carried out in collaboration between all authors. All authors read and approved the final manuscript.

Original Research Article

Received 27th February 2014 Accepted 29th April 2014 Published 21st May 2014

ABSTRACT

In this paper, we have presented the bilinear form, a generalized double Wronskian solution of a non-autonomous Schrödinger equation. Furthermore, we found rational-like solutions by taking special case in general solutions.

Keywords: Double wronskian solution; rational-like solution; non-autonomous schrödinger equation; 2010 MSC: 35C15.

1. INTRODUCTION

In the process of searching for explicit exact solutions, various methods have been developed to the non- linear evolution equations (NLEEs), such as the inverse scattering transform [1,2], Bäcklund and Darboux transformations [3,4], Hirota bilinear method [5], the Wronskian technique [6], Lie symmetry method [7] and so on. Among them, the Wronskian technique provides us with a powerful tool to construct exact solutions for many NLEEs. Once we construct the entries of the determination of Wronskian, we are able to give direct and simple verificatio- ns of the solutions. What's more, one can utilize Wronskian technique to find rational solutions, positons, negatons, complexitons and interaction solutions for the integrable equations in Wronskian form [6,10,16,17].

As we know, the Wronskian technique has been proved very effective in obtaining explicit solutions to classic integrable equations, such as KdV, mKdV, KP, Boussinesq, nonlinear Schrödinger (NLS), derivative NLS equations etc [7-15]. Recently, some authors have begun to use this technique to other non-isospect-ral equations and variable-coefficient models. Sun et al. [18] have researched on double Wronskian solution of the non-isospectral AKNS equation; He et al. [5] have considered on the double Wronskian solution of a non-isospectral KP equation; Lv et al. [10] have presented on Wronskian solution of a generalized variable-coefficient nonlinear Schrödinger equation; Tian et al. [19] have discussed on the double Wronskian solitons and rogue waves for the inhomogeneous nonlinear Schrödinger equation in an inhomogeneous plasma. Pishkoo A et al. [20] have researched on G-Function solutions for Schrödinger equation in cylindrical coordinates system.

In this paper, we would like to apply the Wronskian technique to a generalized nonautonomous NLS equation [21,22]

$$iQ_t + Q_{xx} - 2e^{\lambda t} |Q|^2 Q + \frac{1}{4}\lambda^2 x^2 Q = 0$$
 (1)

its Lax pair is as follows [21,22,23]:

$$\phi_{\rm r} = M\phi, \quad \phi_{\rm r} = N\phi, \tag{2}$$

where

$$M = i \begin{pmatrix} -\Lambda(t) & q(x,t) \\ -q^*(x,t) & \Lambda(t) \end{pmatrix},$$
 (3a)

$$N = i \begin{pmatrix} -|q|^2 - \lambda x \Lambda - 2\Lambda^2 & q_x - i\lambda x q - 2iq\Lambda \\ \frac{*}{q_x} + i\lambda x q^* + 2iq^*\Lambda & |q|^2 + \lambda x \Lambda + 2\Lambda^2 \end{pmatrix}, \tag{3b}$$

and $q(x,t)=e^{\dfrac{\lambda}{2}t+i\dfrac{\lambda}{4}x^2}Q$, $\Lambda_j(t)$ satisfies $\Lambda_{j,t}=\lambda\Lambda_j$. Moreover, equation (1) can be reduced to the following equation:

$$iu_t + u_{xx} - 2e^{2\lambda t} |u|^2 u - i\lambda x u_x = 0,$$
(4)

by the transformation

$$Q = e^{\frac{\lambda}{2}t - i\frac{\lambda}{4}x^2}u,\tag{5}$$

so we only consider the equation above.

This paper is organized as follows. In Section 2, based on the Lax pair (3), the deduction of double Wronskian solution of (1) are obtained. In Section 3, rational-like solutions of (1) are presented by taking special case in general solutions. Section 4 is devoted to conclusions.

2. DEDUCTION OF DOUBLE WRONSKIAN SOLUTION OF (1)

In this section, we derive the bilinear form of (4) and obtain the deduction of double Wronskian solution of (1). Through the dependent variable transformation

$$u = \frac{G}{F},\tag{6}$$

where F and G are both complex, equation(4) is transformed into the following equations:

$$(iD_t + D_x^2 - i\lambda x D_x)G \cdot F = 0, (7a)$$

$$F^*D_x^2 F \cdot F = -2e^{2\lambda t} FGG^*, \tag{7b}$$

where D is well-known Hirota bilinear operator defined by

$$D_{t}^{m}D_{x}^{n}f \cdot g = (\partial_{t} - \partial_{t'})^{m}(\partial_{x} - \partial_{x'})^{n}f(t,x)g(t',x')|_{t'=t,x'=x}.$$

Let us observe the matrix equations

$$\phi_x = -iA\phi, \quad \phi_t = (-iA_t x - 2iA^2)\phi, \tag{8a}$$

$$\psi_x = iA\psi, \quad \psi_t = (iA_t x + 2iA^2)\psi,$$
 (8b)

where

$$\phi = (\phi_1, \phi_2, \dots, \phi_{2N})^T, \ \psi = (\psi_1, \psi_2, \dots, \psi_{2N})^T,$$
 (9)

and $A = (a_{ij})$ is an $2N \times 2N$ arbitrary function matrix of independent of x satisfying

$$A_t = \lambda A \tag{10}$$

To use the Wronskian technique, we adopt the compact notation introduced by Freeman and Nimmo [10].

$$W^{N,M}(\phi,\psi) = \det(\phi, \partial_x \phi, \cdots \partial_x^{N-1} \phi; \psi, \partial_x \psi, \cdots \partial_x^{M-1} \psi) = |\widehat{N-1}; \widehat{M-1}|, \tag{11}$$

where $\phi = (\phi_1, \phi_2, \cdots, \phi_{N+M})^T$ and $\psi = (\psi_1, \psi_2, \cdots, \psi_{N+M})^T$. Define $F = |\widehat{N-1}; \widehat{N-1}|, \tag{12a}$

$$\widetilde{G} = 2 \mid \widehat{N}; \widehat{N-2} \mid, \tag{12b}$$

Where ϕ_i and ψ_i satisfy the conditions (8). Let

$$G = ie^{-\lambda t}\widetilde{G},\tag{13}$$

then we can deduce

$$\widetilde{G}^* = 2 | \widehat{N-2}; \widehat{N} |,$$

$$F^* = (-1)^N F, \quad G^* = (-1)^N 2ie^{-\lambda t} | \widehat{N-2}; \widehat{N} |.$$
(14)

Noting

$$G_0 = 2ie^{-\lambda t} |\widehat{N-2}; \widehat{N}|. \tag{15}$$

equation (7) can be transformed into the following equations:

$$(iD_t + D_x^2 - i\lambda x D_x)G \cdot F = 0, (16a)$$

$$D_x^2 F \cdot F = -2e^{2\lambda t} GG_0. \tag{16b}$$

In what follows we prove that (16) has the double Wronskian solution

$$F = W^{N,N}(\phi; \psi), \tag{17a}$$

$$G = 2ie^{-\lambda t}W^{N+1,N-1}(\phi;\psi), \tag{17b}$$

$$G_0 = 2ie^{-\lambda t}W^{N-1,N+1}(\phi;\psi).$$
 (17c)

For convenience of proof, we first give the following required lemmas which their proofs can be seen in Chen et al. [2]:

Lemma 2.1

$$|D,a,b||D,c,d|-|D,a,c||D,b,d|+|D,a,d||D,b,c|=0$$
, (18)

where D is an $N \times (N-2)$ matrix and a, b, c, d represent N column vectors.

Lemma 2.2

$$\sum_{j=1}^{N} |\alpha_1, \cdots \gamma \alpha_j, \alpha_{j+1}, \cdots \alpha_N| = \sum_{j=1}^{N} \gamma_j |\alpha_1, \cdots \alpha_N|,$$
(19)

where $\alpha_j \ (1 \leq j \leq N) \ \ {\rm are} \ N$ -dimensional column vectors

and
$$\gamma \alpha_j$$
 denotes $\gamma \alpha_j = (\gamma_1 \alpha_{1j}, \gamma_2 \alpha_{2j}, \cdots \gamma_N \alpha_{Nj})^T$.

Lemma 2.3 Assume that $P = (p_{ij})$ is an $l \times l$ operator matrix and its entries p_{ij} are differential operators.

 $B=(b_{i\ j})$ is an $l\times l$ function matrix with column vector set $b_{i\ j}$ and row vector set $b_{i\ j}'$ ($i=1,2,\cdots l;\ j=1,2,\cdots l$),

then

$$\sum_{i=1}^{l} |b_1, \cdots p_i b_i, \cdots b_l| = \sum_{j=1}^{l} \begin{vmatrix} b_1' \\ \vdots \\ p_j' b_j' \\ \vdots \\ b_t' \end{vmatrix}, \tag{20}$$

where

$$p_{i}b_{i} = (p_{1i}b_{1i}, p_{2i}b_{2i}, \cdots p_{li}b_{li})^{T},$$

$$p'_{j}b'_{j} = (p_{j1}b_{j1}, p_{j2}b_{j2}, \cdots p_{jl}b_{jl})^{T}.$$

Lemma 2.4 Suppose $A = (a_{ij})$ is an $2N \times 2N$ arbitrary function matrix of independent of x satisfying $A_t = \lambda A$, then, under the condition (8), we have

$$t \, r(A) \, | \, \widehat{N-1}; \widehat{N-1} |$$

$$= -| \, \widehat{N-2}, N; \widehat{N-1} | + | \, \widehat{N-1}; \widehat{N-2}, N \, |,$$
(21a)

$$[t \, r(A)]^2 \, | \, \widehat{N-1}; \widehat{N-1} |$$

$$= | \, \widehat{N-3}, N-1, N; \widehat{N-1}| + | \, \widehat{N-2}, N+1; \widehat{N-1}|,$$

$$-2 \, | \, \widehat{N-2}, N; \widehat{N-2}, N \, | + | \, \widehat{N-1}; \widehat{N-3}, N-1, N \, |$$

$$+ | \, \widehat{N-1}; \widehat{N-2}, N+1 \, |, \tag{21b}$$

$$t \, r(A) \, | \, \widehat{N}; \widehat{N-2} \, |$$

$$= - | \, \widehat{N-1}, N+1; \widehat{N-2} \, | + | \, \widehat{N}; \widehat{N-3}, N-1 \, |, \tag{21c}$$

$$[t \, r(A)]^2 \, | \, \widehat{N}; \widehat{N-2} \, |$$

$$= | \, \widehat{N-2}, N, N+1; \widehat{N-2} \, | + | \, \widehat{N-1}, N+2; \widehat{N-2} \, |$$

$$-2 \, | \, \widehat{N-1}, N+1; \widehat{N-3}, N-1 \, | + | \, \widehat{N}; \widehat{N-3}, N \, |$$

$$+ | \, \widehat{N}; \widehat{N-4}, N-2, N-1 \, |,$$
(21d)

in general, we obtain

$$\left\{ (t \, rA)^2 \, | \, \widehat{N-1}; \widehat{N-1} | \right\} | \, \widehat{N}; \widehat{N-2} \, |$$

$$= \left\{ (t \, rA) \, | \, \widehat{N}; \widehat{N-2} | \right\} \left\{ (t \, rA) \, | \, \widehat{N-1}; \widehat{N-1} | \right\}$$

$$= \left\{ (t \, rA)^2 \, | \, \widehat{N}; \widehat{N-2} \, | \right\} | \, \widehat{N-1}; \widehat{N-1} | \tag{21e}$$

$$\left\{ (t \, rA)^2 \, | \, \widehat{N-1}; \widehat{N-1} | \right\} | \, \widehat{N-1}; \widehat{N-1} |
= \left\{ (t \, rA) \, | \, \widehat{N-1}; \widehat{N-1} | \right\} \left\{ (t \, rA) \, | \, \widehat{N-1}; \widehat{N-1} | \right\}.$$
(21f)

The proofs of lemmas mentioned above can be seen in Chen et al. [2].

Theorem 2.1 Equation (16) has double Wronskian solution (17), where ϕ_j , ψ_j are satisfied by (8). Thus, with the transformation (5), the corresponding double Wronskain solution of (1) can be expressed as

$$Q = \frac{2iW^{N+1,N-1}(\phi;\psi)}{W^{N,N}(\phi;\psi)}e^{-\frac{\lambda}{2}t - i\frac{\lambda}{4}x^2}.$$
 (22)

Proof. Note $\Delta = 2ie^{-\lambda t}$, the derivatives of *F*, *G* can be easily computed

$$F_x = |\widehat{N-2}, N; \widehat{N-2}| + |\widehat{N-1}; \widehat{N-2}, N|,$$
 (23a)

$$\begin{split} F_{xx} = & |\widehat{N-3}, N-1, N; \widehat{N-1}| + |\widehat{N-2}, N+1; \widehat{N-1}| \\ + & 2 |\widehat{N-2}, N; \widehat{N-2}, N| + |\widehat{N-1}; \widehat{N-3}, N-1, N| \\ & + |\widehat{N-1}; \widehat{N-2}, N+1|, \end{split} \tag{23b}$$

$$G_{x} = \Delta(|\widehat{N-1}, N+1; \widehat{N-2}| + |\widehat{N}; \widehat{N-3}, N-3|),$$

$$G_{xx} = \Delta(|\widehat{N-2}, N, N+1; \widehat{N-2}|)$$
(23c)

$$+|\widehat{N-1},N+2;\widehat{N-2}|+|\widehat{N};\widehat{N-3},N|\\+2|\widehat{N-1},N+1;\widehat{N-3},N-1|\\+|\widehat{N};\widehat{N-4},N-2,N-1|). \tag{23d}$$

From the condition (8), we have

$$F_{t} = N(N-1)\lambda F$$

$$+\lambda x(|\widehat{N-2},N;\widehat{N-1}|+|\widehat{N-1};\widehat{N-2},N|)$$

$$+2i(|\widehat{N-1};\widehat{N-3},N-1,N|)$$

$$-|\widehat{N-3}, N-1, N; \widehat{N-1}| + |\widehat{N-2}, N; \widehat{N-1}| \\ -|\widehat{N-1}; \widehat{N-2}, N+1|), \tag{24a}$$

$$G_t = [-2i\alpha x + (N^2 - N+1)\lambda]\widetilde{G} \\ +\lambda x(|\widehat{N-1}, N+1; \widehat{N-2}| + |\widehat{N}; \widehat{N-3}, N-1|) \\ -\lambda \widetilde{G} + 2i(|\widehat{N}; \widehat{N-4}, N-2, N-1| \\ -|\widehat{N-2}, N, N+1; \widehat{N-2}| + |\widehat{N-1}, N+2; \widehat{N-2}| \\ -|\widehat{N}; \widehat{N-3}, N|). \tag{24b}$$

Substituting (23) and (24) into the left-hand side of (16a) and making use of (21e), we get

$$i(G_{t}F - GF_{t}) + (G_{xx}F - 2G_{x}F_{x} + GF_{xx}) - i\lambda x(G_{x}F - GF_{x})$$

$$= \Delta(|\widehat{N-1}; \widehat{N-1}||\widehat{N-2}, N, N+1; \widehat{N-2}|$$

$$+|\widehat{N-1}; \widehat{N-1}||\widehat{N}; \widehat{N-3}, N||$$

$$+|\widehat{N}; \widehat{N-2}||\widehat{N-2}, N+1; \widehat{N-1}||$$

$$+|\widehat{N}; \widehat{N-2}||\widehat{N-1}; \widehat{N-3}, N-1, N||$$

$$+|\widehat{N-1}, N+1; \widehat{N-2}||\widehat{N-2}, N; \widehat{N-1}||$$

$$+|\widehat{N}; \widehat{N-3}, N-1||\widehat{N-1}; \widehat{N-2}, N|). \tag{25}$$

According to Lemma 2.1, (25) is equal to zero. So the proof of (16a) is finished. Similarly, we have

$$2(F_{xx}F - F_{x}^{2}) + 2e^{2\lambda t}GG_{0}$$

$$= 2[|\widehat{N} - 1; \widehat{N} - 1|(|\widehat{N} - 3, N - 1, N; \widehat{N} - 1|$$

$$+|\widehat{N} - 2, N + 1; \widehat{N} - 1| + 2|\widehat{N} - 2, N; \widehat{N} - 2, N|$$

$$+|\widehat{N} - 1; \widehat{N} - 3, N - 1, N| + |\widehat{N} - 1; \widehat{N} - 2, N + 1|)$$

$$-|\widehat{N} - 2, N; \widehat{N} - 1| + |\widehat{N} - 1; \widehat{N} - 2, N|^{2}]$$

$$-8|\widehat{N}; \widehat{N} - 2||\widehat{N} - 2; N|.$$
(26)

Utilizing the identities (21f), the right-hand side of (26) is reduced as

$$8[|\widehat{N-1};\widehat{N-1}||\widehat{N-2},N;\widehat{N-2},N|-[|\widehat{N-1};\widehat{N-2},N||\widehat{N-2},N;\widehat{N-1}|] - [|\widehat{N};\widehat{N-2}||\widehat{N-2};\widehat{N}|).$$
(27)

Using Lemma 2.1, (27) is equal to zero. Thus we have proved (16b). Therefore, with the transformation (5), the corresponding double Wronskain solution of (1) can be expressed as (22).

3. RATIONAL-LIKE SOLUTIONS OF (1)

In this section, rational-like solutions, which can be seen as the rational function of x after discarding the exponential part, are presented for (1) in the generalized double Wronskian form (22).

From (8), we get the general solution

$$\phi = \exp(-iAx - 2i\int_0^i A^2 dt)C,$$
(28a)

$$\psi = \exp(iAx + 2i\int_0^i A^2 dt)D,$$
(28b)

where

$$C = (c_1, c_2, \dots c_{2N})^T$$
, $D = (d_1, d_2 \dots d_{2N})^T$

are constant vectors. Substituting $A = e^{\lambda t} A_0$ into (28) and expanding it leads

$$\phi = \sum_{s=0}^{\infty} \sum_{l=0}^{\left[\frac{s}{2}\right]} \frac{(-ia_1x)^{s-2l}}{(s-2l)!} \frac{(-ia_2)^l}{l!} A_0^s C,$$
(29a)

$$\psi = \sum_{s=0}^{\infty} \sum_{l=0}^{\left[\frac{s}{2}\right]} \frac{(ia_1 x)^{s-2l}}{(s-2l)!} \frac{(ia_2)^l}{l!} A_0^s D,$$
(29b)

where
$$a_1 = e^{\lambda t}$$
, $a_2 = \frac{e^{2\lambda t} - 1}{\lambda}$.

lf

$$A_{0} = \begin{pmatrix} 0 & & & \\ 1 & 0 & & & \\ & \ddots & \ddots & & \\ 0 & 1 & 0 \end{pmatrix}_{2N \times 2N} , \tag{30}$$

it is obvious to know that $A^{2N} = 0$. Therefore, (29) can be truncated as

$$\phi = \sum_{s=0}^{2N-1} \sum_{l=0}^{\left[\frac{s}{2}\right]} \frac{(-ia_1x)^{s-2l}}{(s-2l)!} \frac{(-ia_2)^l}{l!} A_0^s C,$$
(31a)

$$\psi = \sum_{s=0}^{2N-1} \sum_{l=0}^{\left[\frac{s}{2}\right]} \frac{(ia_1 x)^{s-2l}}{(s-2l)!} \frac{(ia_2)^l}{l!} A_0^s D.$$
 (31b)

The components of ϕ and ψ are

$$\phi_{j} = \left[c_{j} + (-ia_{1}x)c_{j-1} + (-\frac{a_{1}x^{2}}{2} - ia_{2})c_{j-2} + \dots + c_{1}\sum_{l=0}^{\left[\frac{j-1}{2}\right]} (-i)^{j-1-l} \frac{(a_{1}x)^{j-1-2l}}{(j-1-2l)!} \frac{(a_{2})^{l}}{l!}\right],$$
(32a)

$$\psi_j = [d_j + (ia_1x)d_{j-1} + (-\frac{a_1x^2}{2} + ia_2)d_{j-2}]$$

$$+\dots+d_1\sum_{l=0}^{\left[\frac{j-1}{2}\right]}(i)^{j-1-l}\frac{(a_1x)^{j-1-2l}}{(j-1-2l)!}\frac{(a_2)^l}{l!}]. \quad (j=1,2,\dots 2N).$$
(32b)

Taking $c_1 = d_1 = 1$, $c_k = d_k = 0$ $(k = 2, 3, \dots, 2N)$, then (32) becomes

$$\phi_{j} = \sum_{l=0}^{\left[\frac{j-1}{2}\right]} (-i)^{j-1-l} \frac{(a_{1}x)^{j-1-2l}}{(j-1-2l)!} \frac{(a_{2})^{l}}{l!},$$
(33a)

$$\psi_{j} = \sum_{l=0}^{\left[\frac{j-1}{2}\right]} (i)^{j-1-l} \frac{(a_{1}x)^{j-1-2l}}{(j-1-2l)!} \frac{(a_{2})^{l}}{l!}.$$
 (33b)

Thus, we obtain the rational-like solutions, which can be seen as the rational function of x after discarding the exponential part, with Wronskian form of (1) from (22). The first three of lower order are

$$Q = -\frac{i}{x}e^{-\frac{\lambda t}{2} - i\frac{\lambda x^2}{4}},\tag{34a}$$

$$Q = \frac{2\lambda x e^{\lambda t} (-3 + 3e^{2\lambda t} + i\lambda x^2 e^{2\lambda t})}{-3 + 6e^{2\lambda t} - 3e^{4\lambda t} + \lambda^2 x^4 e^{4\lambda t}} e^{-\frac{\lambda t}{2} - i\frac{\lambda x^2}{4}},$$
(34b)

$$Q = \frac{Q_1 + Q_2 + Q_3}{Q_4} , (34c)$$

where

$$Q_1 = 24\lambda^3 x^6 e^{6\lambda t} (1 - e^{2\lambda t}) e^{-\frac{\lambda t}{2} - i\frac{\lambda x^2}{4}},$$

$$\begin{split} Q_2 = &135i(1 - 4e^{2\lambda t} + 6e^{4\lambda t} + e^{8\lambda t} - 4e^{6\lambda t})e^{-\frac{\lambda t}{2} - i\frac{\lambda x^2}{4}}, \\ Q_3 = &3i\lambda^2 x^4 e^{4\lambda t} (-30 + \lambda^2 x^4 - 30\lambda^2 x^4 e^{8\lambda t} + 60e^{2\lambda t})e^{-\frac{\lambda t}{2} - i\frac{\lambda x^2}{4}}, \\ Q_4 = &x(\lambda^4 x^8 e^{8\lambda t} - 18\lambda^2 x^4 e^{8\lambda t} - 18\lambda^2 x^4 e^{4\lambda t} \\ &+ 36\lambda^2 x^4 e^{6\lambda t} - 135e^{8\lambda t} + 540e^{6\lambda t} - 810e^{4\lambda t} + 540e^{2\lambda t} - 135). \end{split}$$

These solutions can be verified by direct substitution into (1). If we set $\lambda \to 0$, the solutions (34) turn out to be

$$Q = -\frac{i}{x},\tag{35a}$$

$$Q = \frac{12xt + 2ix^3}{x^4 - 12t^2},\tag{35b}$$

$$Q = \frac{-48x^6t - 3ix^8 + 360ix^4t - i2160t^4}{x^9 - 72x^5t^2 - 2160xt^4},$$
 (35c)

which are the rational solutions to the standard NLS equation (dark case).

4. CONCLUSION

In summary, we have given the double Wronskian solutions which satisfy matrix equation of a non-autonomous Schrödinger equation through the Hirota method and the Wronskian technique. Moreover, rational-- like solutions of the equation are obtained by taking special case in general solutions. It is believed that the methods used in the paper may be applied for some integrable non-autonomous models and several other variable-coefficient NLEEs. An open problem is whether there exist the multisoliton solutions in the Wronskian form for dark case of NLS-type equations, what the conditions if they exist and how to construct the entries in the Wronskian determinant. We expect to discuss this problem elsewhere.

COMPETING INTERESTS

Authors declare that there are no competing interests.

REFERENCES

- 1. Ablowitz MJ, Clarkson PA. Nonlinear Evolution Equations and Inverse Scattering, Cambridge U-niversity Press, Cambridge; 1992.
- 2. Chen DY, Zhang DJ, Bi JB. New double Wronskian solutions of the AKNS equation, Science in China series A: Mathematics. 2008;51(1):55-69.

- 3. Garder CS, Green JM, Kruskal MD, Miura RM. Method for solving the Korteweg-de Vries equation. Physical Review Letters. 1967;19:1095-1097.
- 4. Hirota R. Exact solution of the Korteweg-de Vries equation for multiple collisions of solitons. Physical Review Letters. 1971;27(18):1192-1194.
- 5. He JS, Ji M, Li YS. Solutions of two kinds of non-isospectral generalized nonlinear Schrödinger Equation Related to Bose Einstein Condensates, Chinese Physics Letters. 2007;24(8):2157-2160.
- 6. Ji J. The double Wronskian solutions of a non-isospectral Kadomtsev-Petviashvili equation, Physics Lett-ers A. 2008;372(39):6074-6081.
- 7. Wang GW, Xu TZ, Johnson S, et al. Solitons and Lie group analysis to an extended quantum Zakharov–Kuznetsov equation. Astrophysics and Space Science. 2014;349(1):317-327.
- 8. Ma WX, Wronskians, generalized Wronskians and solutions to the Korteweg-de Vries equation. Chaos, Solitons & Fractals. 2004;19(1):163-170.
- 9. Wang GW, Xu TZ, Ebadi G, et al. Singular solitons, shock waves, and other solutions to potential KdV equation. Nonlinear Dynamics. 2013;1-10.
- 10. Triki H, Biswas A, Soliton solutions for a generalized fifth-order KdV equation with t-dependent coefficients. Waves in Random and Complex Media. 2011;21(1):151-160.
- 11. Lv X, Zhu HW, Yao ZZ, Meng XH, Zhang C, Zhang CY, Tian B. Multisoliton solutions in terms of double Wronskian determinant for a generalized variable-coefficient nonlinear Schrödinger equation from plasma physics, arterial mechanics, fluid dynamics and optical communications, Annals of Physics. 2008;323(8):1947-1955.
- 12. Matveev VB, Salle MA. Darboux Transformation and Solitons, Springer-Verlag, Berlin; 1991.
- 13. Ma WX. Complexiton solutions to the KortewegCde Vries equation, Physics Letters A. 2002;301(1-2):35-44.
- 14. Freeman NC, Nimmo JJ. A method of obtaining the N-Solution of the Boussines equation in terms of Wronskian, Physics Letters A. 1983;95(1):4-6.
- 15. Gaillard P. Wronskian representation of solutions of NLS equation, and seventh order rogue wave, Journal of Modern Physics. 2013;4(2):246-266.
- 16. Li CX, Ma WX, Liu XJ, Zeng YB. Wronskian solutions of the Boussinesq equation-solitons, negatons, positons and complexitons. Inverse Problems. 2007;23:279-296.
- 17. Maruno K, Ma WX, Oikawa M. Generalized Casorati Determinant and Positon-Negaton-Type Solutions of the Toda Lattice Equation, J. Phys. Soc. Jpn. 2004;73:831-837.
- 18. Sun YP, Bi JB, Chen DY. N-soliton solutions and double Wronskian solution of the nonisospe-ctral AKNS equation, Chaos, Solitons and Fractals. 2005;26(3):905-912.
- 19. Sun WR, Tian B, Jiang Y, et al. Double-Wronskian solitons and rogue waves for the inhomo-geneous nonlinear Schrödinger equation in an inhomogeneous plasma. Annals of Physics. 2014;343:215-227.
- 20. Pishkoo A, Darus M. G-Function Solutions for Schrödinger Equation in Cylindrical Coordinates System. Applied Mathematics. 5(2014):342.
- Zhang Y, Xu HX, Yao CZ, Cai XN. A class of exact solutions of the generalized nonlinear Schrödinger equation, Reports on Mathematical Physics. 2009;63(3):427-439.

- 22. He XG, Zhao D, Li L, et al. Engineering integrable non-autonomous nonlinear Schrödinger equations. Physical Review E. 2009;79(5):056610.
- 23. Zhai W, Chen DY. Rational solutions of the general nonlinear Schrödinger equation with derivative, Physics Letters A. 2008;72(23):4217-4221.

© 2014 Fu et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/3.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here: http://www.sciencedomain.org/review-history.php?iid=522&id=5&aid=4632